
 
Start 

 
 

Who has 𝐬𝐢𝐧 $𝝅
𝟑
%? 

 

I have √𝟑
𝟐

 

 
 

Who has 𝐜𝐨𝐬 $𝟑𝝅
𝟒
%?   

 

I have − √𝟐
𝟐
. 

 
 

Who has 𝐭𝐚𝐧 𝝅
𝟑
? 

 

 
I have √𝟑. 

 
 

Who has 𝐥𝐨𝐠𝟏𝟑(𝟏)?  

 
 

I have 0. 
 

Who has 𝐥𝐨𝐠𝟓(𝟐𝟓)?   

 
 

I have 2. 
 

Who has 𝐬𝐢𝐧	 $𝟕𝛑
𝟔
%?  

 
 

I have +𝟏
𝟐

. 
 

Who has ln	𝒆? 

 
I have 𝟏. 

 
 

Who has 𝐭𝐚𝐧 $𝟓𝝅
𝟔
%? 

 

I have − √𝟑
𝟑

. 

 
Who has 𝐥𝐨𝐠𝟐(𝟖)?  

 
I have 3. 

 
Who has 𝐥𝐨𝐠𝟐𝟓(𝟓)? 



 

I have 𝟏
𝟐
. 

 
 

Who has 𝐜𝐨𝐬	 $𝟕𝝅
𝟔
%?  

 

I have +√𝟑
𝟐

. 

 
 

Who has 𝐜𝐨𝐬	(𝟏𝟗𝝅)? 

 
I have -1. 

 
 

Who has 𝐥𝐨𝐠𝟑 $
𝟏
𝟐𝟕
%?  

 
I have −𝟑. 

 
 

Who has 𝐥𝐧	(𝒆𝟔)? 

 
I have 6. 

 
 

Who has 𝟏 + 𝐭𝐚𝐧𝟐𝒙?  

 
I have 𝐬𝐞𝐜𝟐𝒙. 

 
 

Who has 𝐬𝐢𝐧(𝟐𝒙)?  

 
I have 𝟐𝐬𝐢𝐧	𝒙	𝐜𝐨𝐬	𝒙. 

 
 

Who has 𝐭𝐚𝐧 $𝟓𝝅
𝟑
%?  

 
I have −√𝟑. 

 
 

Who has 𝟏 + 𝐜𝐨𝐭𝟐𝒙?  

 
I have 𝐜𝐬𝐜𝟐𝒙. 

 
 

Who has 𝐥𝐨𝐠𝟐(𝟑𝟐)? 
 

 
I have 5.  

 
 

Who has 𝐜𝐨𝐬	(𝟐𝒙)? 



 
 

I have 𝐜𝐨𝐬𝟐𝒙 − 𝐬𝐢𝐧𝟐𝒙. 
 

Who has 𝐬𝐢𝐧	𝒙
𝐜𝐨𝐬	𝒙

?  

 
 

I have 𝐭𝐚𝐧	𝒙. 
 

Who has the 𝐥𝐨𝐠𝟐(−𝟒)?  

 
 

I have an undefined value. 
 

Who has the period of the sine 
function?  

 
 

I have 𝟐𝝅. 
 

Who has the reciprocal of 𝐬𝐢𝐧	𝒙?  

 
I have 𝐜𝐬𝐜	𝒙. 

 

Who has 𝐥𝐨𝐠𝟐 $
𝟏
𝟒
%?  

 
I have -2. 

 
Who has the period of the tangent 

function? 

 
 

I have 𝝅. 
 

Who has 𝐬𝐢𝐧	 $𝟑𝝅
𝟒
%?  

 
 

I have √𝟐
𝟐

. 

 
Who has 𝐥𝐨𝐠𝟓	(𝟓𝟕)?  

 
 

I have 7. 
 

Who has 𝟏
𝐜𝐨𝐬	𝒙

? 

 

 

 

I have 𝐬𝐞𝐜	𝒙. 

 

End. 

 


